Implicit, e, In, Derivative Rules Competition

One Point Questions: Answers:
1. f(x)=e*"? Find f'(x) 1. f/(x)=e%?(2x-2)
2. x> —y®=2x ) dy _2-3x
dx —3y?
3. f(x)=6""  Find f'(x) 3. /() = 6“ (—sin x) In(6)
4. £(xX)=In(8x—4x%)  Find f'(X) 4. f’(X)zg’X__li):(z3
5. £(x)=(tanx)(nx)  Find '(x) 5 f’(x)=(tanx)(%j+(ln(x))(sec2 )
6. f(x):% Find f'(x) 6. f’(X)zxeXXZex or eX()>(<2_1)

7. f(X)=log,(3x?) Find f'(x) (simplify)

Two Point Questions:

f,(x):6x(1j: 2
3x*In2) (In2)x

8. 2X+Xy—4y2:2)(2_5 Findd—y 8. ﬂ:4x—2—y
dx dx X —8y
0. x—xy+y?=4 Find Yt 0. o L
dx 2

10. y=x*—In(3x) find the equation of the tangent line
atx=4

10.

y—(16-1In12) :%(x—4)

COS X 6 2X+1

11. f'(X)=——+ -
sinx 2x-1 2(x“+x+1)

i y- In[(s,in X)(2X —1)3J
VX2 +x+1
dy

Find d_ by first simplifying the expression
X

, xtanx+1 , 1
12. y=In(xsecx) Find f'(x) (simplify) 12. f'(x)=——— or f(x):tanx+;

_Q_ Y y
dy 13 QZSe e’ +8

13. xe¥ +8x—-3y=0 Find& dx xe"—3:3—xey




In(x® — x)

14. f(x)= o? 1

Find f'(X) (do not simplify)
dy

15. 3x* +2y+tany =1 Find " at (2,0)
X

Three Point Questions:

16. £(X)=(x*=2x)*  Find f'(X)

17. In(xy) =tany Find g—y (do not simplify)
X

J— In(x® = x)(4x)
X

(cos x)(3x* - 2)

1 2
~—sec’y
y

(2x* -1)?

~In(x® = 2x)(sin x)j(x3 —2x )™



